"-2/3em- "7

cm



o8 T2y} Zro]l AB = AC = 5¢m ©| 1
o] gol& ot et

BC =

6cm Q1 ©]5

3
alo

—~



3. diZH4e] dol7t 543 em WA o] g mAjz o] Ao ot
b

=}
5]

(1}



T Mk}
Fofet

o
=
)

=
.?_

4.



o2 1989 AABC oA /C = 90° o1
CDLAB ©|t}. CD 2] Ao]=?

~Ts/5

D 10 @ 5 3 52 @ 102 G 20



6. T I™elA T A PG, 1), Q-3 -2) m
Afole] Az

______ g)(_5, 1)
O T

- —
I

(-3,-2)

D V5 @5 ® Vi3 @ 5 B 11



D 22

@ 32

3 42

A

Q

@ 542

® 62



&+
o

L
=
[

(V]

L
=
[

A(-4, 2), B
(x, 4) Atole] A7E 26 4 o
A o, x o] = A5
2 ok



2317 Apole] A2 S



10.

oh& 197 Zo] B2 6em 1 HAE
ola, 9ol 9em o] FHAAF A
ZHgolch, JAHZHE O — ABCD 9] o]}
HuE 2t Fop?

ox
>

@ +6cm,3V6cm3 @ +Tcm,3V7cm3
® 3v9cm,12V9 cm? @ 3+7cm,6V6cm?
® 34/7cm, 36 V7 cm3



